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The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

Answer any five questions from the rest 10x5 =50

1. Distinguish between (5IF1 (FTC): 5+5
(i) Cost Centre and Cost Unit
AR @ ¢ SR 9T

(i) Direct Cost and Indirect Cost.
ZHOPF T 8 AT T |
OR /=¥«

From the following information prepare a statement of cost for the year 2018 10
showing therein (i) Prime cost; (ii)) Works cost; (iii) Cost of production and

(iv) Profit or Loss.

7 oYefe (@F 2018 AR @3+ 1 a¥e F@ @R @AE (1) 7 T3

(i) G 7 (iii) TeAM T (iv) 7S T2 FO |

Rs. Rs.
Raw material consumed | 60,000 | Depreciation on machinery | 12,000
Direct wages 40,000 | Office overhead 20% on work cost
Direct expenses 8,000 | Selling overhead Rs. 2 per unit
Indirect wages 10,000 | Units produced 15,000 units

Units sold 12,000 unit @ Rs. 15
2. (a) What is Economic Order Quantity? 2+8
e T “if7=ie FIE 0 9

b) From the following particulars determine:
gp
(i) Economic Order Quantity
(i) Number of Order per Year

The annual demand of an item is 3600 units. Cost per unit of materials Rs. 15. The
cost of one procurement is Rs. 200. The cost of carrying one unit of inventory per
year are:

(D Rent, Taxes and Insurance Rs. 2.00 and
(IT) Interest on inventory Rs. 2.00.

1027 1 Turn Over



B.Com./Part-1/Gen./CMAG-1/2021

OR /9124l

(a) Mention any two advantages of LIFO method.
A T S AR (LIFO) “afes b Rl =7ea
(b) From the following details write stores ledger under simple average method:

Opening Balance 100 kgs @ Rs. 6.00

March 1
5

8

10

15

18

20

25

29

Received 50 kgs @ Rs. 6.20
Issued 120 kgs

Issued 10 kgs

Received 80 kgs @ 6.40
Issued 50 kgs

Received 100 kgs @ 6.60
Issued 40 kgs

Issued 60 kgs

The stock verifier found a shortage of 10 kgs on 16th March.

3. (a) Mention two differences between time keeping and time booking. 2+8
g o @ Iy feorRrR e W it A Srad i
(b) A worker takes 100 hours to do a job for which the time allowed is 225 hours. His

hourly rate is Rs. 15.

Calculate the Work Cost of the job under the following methods of payment of

wages:

frafafie SGd e 2mmfore Fwta Work Cost 6 Tt
(i) Time Rate  (ii) Piece Rate

Additional information:

Tfefae w58

(ii1) Halsey Plan

Material Cost Rs. 12,500, Factory Overhead @ 80% of Direct wages.

Write short notes on:
ke Bl 1eale

(a) Time Keeping
T Terforaeae

OR /924l

(b) Treatment of overtime wages in Cost Accounting

AR AR overtime NG foTfoaeeel |

(c) Incentive Bonus

AT (AT
(d) Rowan Premium Plan.

e TSRS @ae #mhe |
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4. (a) What do you mean by overhead absorption? 2+8
ToifRrcEs f[eeeet Toice ¢ @Il 9

(b) Ali Engineering Pvt. Ltd. has three production departments X, Y and Z and one
service department S. The cost for the year 2018 were as follows:

Ali Engineering Pvt. Ltd.-43 foaib Seine [Kolol X, Y @ 7 @R @3 ARier! o
S TR 2018 FETH 46 e fomanote

Rs.
Rent 34,000
Power 18,400
Depreciation on machinery 22,000
Indirect Wages 10,600
Canteen expenses 6,700
Electricity 8,600
The following further details regarding the departments are available:
X Y Z S
Floor Space (Sq. ft.) 4,000 | 6,000 | 5,000 | 2,000
Light points 48 36 24 12
Cost of Machines (Rs.) | 50,000 | 20,000 | 25,000 | 15,000

From the above particulars prepare statement showing overhead expenses of
production departments.

OR /924l
(a) What do you mean by recovery of overhead? 2+8
TolfeRycaa Sgieael <eice 6 @iean ¢
(b) A company provides you the following information at its three production levels:

@3 @A ol foa Tertive wea fasfafiie el sz @

Cost Items | 1000 units (Rs.) | 2000 Units (Rs.) | 3000 (Rs.)
X 20,000 20,000 20,000
Y 5,600 7,200 8,800
V4 12,000 24,000 36,000

What would be the total cost if the company produce 10,000 units?
@A 7™ 10,000 units T FE OIS AT T (N6 T T (S ?

5. (a) What is Process Costing? 2+4-+2+2
afea #Afar faefr i et ¢
(b) What are its main features?
O3 eyie [IEel & 9

(c) What are the limitations of Process Costing?

e “feEE Aol & &6 o
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(d) Name few industries where process costing is followed.

TR0 WCeR AN Trad I @A 2~ SR w41 21
OR / 923

(a) Mention any two disadvantages of Process Costing.

i@ #Ifra Aaied @-PIe 16 SpifkdE T Tl

(b) From the following information prepare Process Accounts in the books of a firm
ferfeie ©ra MR FIGR 3309 Process Accounts €S FCAIS

. Process-I | Process-11 | Process-I11
Particul Total
articulars ota (Rs.) (Rs.) (Rs.)
Direct Materials 5,200 3,000 2,200 -
Direct Wages 5,300 2,500 1,200 1,600
Direct Expenses 1,600 600 - 1,000
Production Overhead | 15,900 - - -

Production Overhead is observed as a percentage of direct wages. Production
during the period was 1000 kg. There was no stock of Raw materials and Work-in-
progress at the beginning or at the end of the period.

Teoime Tl eforw ol Tom ok R fNdifae = Sesivea sifase few
1000 kg. RIS &0 A (<103 (P Raw materials @38 Work-in-progress et =i

6. (a) What do you mean by Work-in-progress of a Contract? How would you show it in
the Balance Sheet.

el 3% w1 Aferce & @It ¢ e aft Tae g (vl 2

(b) Explain the basic principles to be followed in determining the amount of profit of
incomplete contract.

ST Ot P A M@a CFeg @-5a SEeife G BTl 21 o it
OR / o123

(a) What is Contract Costing?
foo! B #fara Tetce & Q@i 9

(b) The following is the position of Contract No. 400 on 31.3.2018:
31.3.2018 @Ifsitd Contract No. 400-47 Sl Z& feseiois

Rs. Rs.
Materials Purchased | 1,50,000 | Cost of Plant 20,000
Materials in Hand 9,000 | Value of Work Certified 2,50,000
Wages Paid 1,20,000 | Cash Received 2,00,000
Wages Prepaid 2,000 | Cost of Work not Certified 8,000
Indirect Expenses 6,000 | Contract Price 5,00,000

The Plant at site is valued at Rs. 20,000 on 31.3.2018
31.3.2018 ©Iffitd FIFEE Plant-93 37 f2& Rs. 20,000
Prepare the Contract Account showing the Profit /Loss to be transferred to Profit &

Loss Alc.
Contract A/c 2T FE@ GR IO TAS/F Profit & Loss Alc-d BETe T@ @i
@8 |
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7. (a) What is C.V.P. analysis? What are its objectives? 8+2

C.V.P. Reed Te100 & @icai ¢ @9 TSrmejafe 6 6 9
(b) What is break-even point?
T 9
OR /=¥«

From the following particulars calculate (fNSfefe we e ey ) 10
(i) P/Vratio
(i) Break-even Sales
(i) Sales to earn profit Rs. 10,000
(iv) Profit at sales of Rs. 30,000
(v) New break-even profit if sale price is reduced by 20%

Additional information:
(a) Selling Price Rs. 10 per unit
(b) Marginal Cost Rs. 6 per unit and Fixed Cost Rs. 4,000 per annum.

8. The following data relates to a manufacturing company: 3+2+
foaferfis ©2) 21 @3l Termasial @i 7iiFes 21421
Total Sales (Rs.) Total Cost (Rs.)
Year 2017 6,66,900 5,95,080
Year 2018 7,35,300 6,42,960

There is no change in Cost and Sale Price and their predetermined relationship in
both years.

7fo-T=a? ST ¢ Ry ek ot 51 i icss @i sifis ¢12e
Calculate (911 SCA):

(1)  P/Vratio

(i)  Fixed Cost

(iii) Break-even Point

(iv) Margin of Safety

OR /9124l
(a) What do you mean by Marginal Cost? Give Example. 3+5+2
2|if$F 7 0o & @I 2 Twiggel wis |
(b) What are the features of Marginal Cost System?
aifes oI “afen (@HEel [ & o
(c) What is Contribution?
Swe F@Ice & @I

9. What is Budget? What do you mean by Budgetary Control? Explain the 2+2+6
importance of Budgetary Control.

MG & 9 ACGHILETS (~F TET00 6 @I 9 ACHOLETS [WRIHC SR SEb S|

OR /924l

(a) What do you mean by Cash Budget?
9 ACSH IO T QIR 9
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(b) From the following information prepare a flexible budget.
fesferiie ey (F @ flexible budget 2ES |

Planned Levelof activity | S50 |1 00000 units | 1.20.000 units
Selling Price 2 2 1.80
Variable Cost per Unit (Rs.)
Material 70 55 50
Labour 50 45 40
Overhead 40 30 30
Fixed Cost (Rs.) 30 30 35
10.(a) Define Fund Flow Statement. 2+(4+4)
w2l e[R [aede et nie |
(b) Explain in brief the advantages and limitation of Fund Flow Statement.
w2fRe @dre Regaa ikl @ Asidael @fer SRewee! 0 I
OR /=¥«
From the following information prepare a Cash Flow Statement for the year ended 10
31.3.18.
T wears fefers 31.3.18 ity @6 w9 exre Rea 2w e
Balance Sheet as on 31.03.2017 and 31.03.2018
Labiies | 20072008 T I
Share Capital 1,00,000 | 1,20,000 | Fixed Assets 1,40,000 | 1,70,000
Securities Premium 10,000 | Investment 14,000 18,000
General Reserve 32,000 | 36,000 | Stock 40,000 | 46,000
Profit & Loss A/C 8,000 14,000 | Sundry Debtors 38,000 | 48,000
10% Debenture 40,000 | 24,000 | Cash and Bank 12,000 18,000
Sundry Creditors 22,000 | 18,000 | Preliminary Expenses | 12,000 8,000
Provision for Taxation | 24,000 46,000
Proposed Dividend 30,000 | 40,000
2,56,000 | 3,08,000 2,56,000 | 3,08,000

1027

Other information (I« ©)):

(i) Depreciation charged during the year Rs. 20,000
(i) Some Fixed Assets whose book value was Rs. 30,000 was sold for Rs. 36,000.
During the year Income Tax and Dividend were paid for Rs. 28,000 and

Rs. 30,000 respectively.

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same answer

script.




	Untitled



